EXEREVLEBZOMEFSEDRTIZDOLNT(2023FE11A)
BEYONES LV FRICETIEEEISFZD203F2E ICEIZF EHARNMNADEEHIZEELTLS
EEREVERLUSBOHZETERIERDESYARN=LET,

1. fEEROBE
F1RIEH F2IRIE
BB L B ER T =BT E187-2 LR BERTEEFEDMA-31 4
TEEE DFESE EERURRLN G EERRRLS 5
2. BYUTH-EXREVORELSLUVHE
FE1RIEH E2IRIEH
PR 5% 1,069.34t Ot
[XLCA 4211.28t Ot
3. RlED AR
1 H
REBER | EH F1HEH H2RIEH, ___REROEN
EADS i F2[RiEH
=ARB | 2023%F118108 | 20235118108 ||EEEAAR £ A A £ B A
mEE " g . P
RIEHER BEEGL BELGL HERNSE - -
HfRE | 2023%F11H108 | 2023%F11A108 ||EEEARH £ A H £ A B
BEIKT
BK SRR BauL 2hL HERE - -
SiEE | 2023%F118108 | 20234118108 ||{EBEAH £ B H # B H
Eﬁ;ﬁﬂ%iﬂ =+ rdh 4~ Ehf~ H o3
RIEHER BEEGL BELGL HERNAE - -
HfRE | 2023%F11H108 | 2023%F11H108 ||EEEAH £ A H £ A B
=&
BB | mgsER|  BEAEL KRG HERE —~ _
=& | 2023F118108 | 2023F11A108 |[EBEERAH £ B # £ B B
BRI
W% RREER EELGL EELGL BERNS — —
4. BRRIBIABE BIESERE 18/ 4F
FRIEH FE2[RIEH
BIEEAA # A H £ A

BRREIURE




5. KERE (HFK)
(D HPKEEFICRLER

BIESE 1/ 8

by 4 F1EE 2023411 A15H
nit*-l'?*ﬂyﬂzﬁ E %.my—( qiﬂ E JE E
. F1EH 2023412 H20H
REHKRERSEA TR = B
. BRESF = ;
RERE P EREm KR | R | e T | HARRE
KFATVEE OKFIERH) — 15 — — 50~90
tFHNBEER=E mg/L 15 — 05 90
FEYES mg/L 1 — 1 60
() HEKEEZICRDIER BIEHEE:1[E/£F
=k B B oY %1 Iy_< I:Ii-m E H E
ARERIREAR EXPR S0 E A H
+ /a F 1S A H
BREFERIRER %;2”—( Z1h = B A
e BRESF e .
wEAE B e RE R AR | BRI KTk | TR TR | BKEEE
TLELIKERIEE Y mg/L — — 0.0005 [#@HEINANIE
IKER B U7+ K ER _ _
ZOHDKBILE Y me/L 0.0005 =0.005
WWILARUZEDIEEY mg/L — — 0.003 =0.03
SRRUZDIEEY mg/L — — 0.01 =0.1
EREEEY mg/L — — 0.1 =1
FNEy0LE S mg/L — — 0.02 =05
HERVZDILEY mg/L — — 0.01 =<0.1
YTUEEY mg/L — — 0.1 =1
FEIEE 7120 mg/L — — 0.0005 =0.003
MJAOOIFLY mg/L — — 0.01 =<0.1
Fh5490ATFLY mg/L — — 0.01 =<0.1
4 oAy mg/L — — 0.02 <02
gk iR mg/L — — 0.002 <0.02
1,2-%'h0014y mg/L — — 0.004 <0.04
1,1-Y"9001FLy mg/L — — 0.1 =1
YA-1,2-Y"9001FLY mg/L — — 0.04 <04
1,1,1-M90AT4y mg/L — — 0.3 =3
1,1,2-)y00I4y mg/L — — 0.006 <0.06
1,3-2°9007°'AA"Y mg/L — — 0.002 =0.02
FI34 mg/L — — 0.006 <0.06
YIVY mg/L — — 0.003 =0.03
FAAVANT mg/L — — 0.02 <02
AUty mg/L — — 0.01 =0.1
LW RUZEDIEEY mg/L — — 0.01 =0.1
14-Y 134y mg/L — — 0.05 =05
F5FERVZDILEY mg/L — - 0.1 =230
SOERUVEZEDILEY mg/L — — 0.1 <15
TUESTTUECTIE A BRI S . _ <
1 B E & me/L 0 =200
JVRIAY VMY E (FiihEE) mg/L — — 1 =5
JRIAFY M E
(BpAE YRS R) me/L - - ! =30
Ji/-VEEEE mg/L — — 0.5 <5
fief=s mg/L — — 0.3 =3
HFNEES mg/L — — 0.2 =2
BHEERESEE mg/L — — 1 =10
BEEVWIVERE mg/L — — 1 =10
IhEEE mg/L — — 0.2 =2
KGR E/cm® — — 0 <3000
@B)FAFXLE  BIEEE 1R/ F _
Sy 4w 1R £ A H
+ /8 1S ¥ B H
. BRESF = ;
ala B e E AR | B Rk TR | BKERE
R DV ] pg-TEQ/L — — - <10




6. KEHRE (HTK)
(D EREDEEFICRLIEE

AIESHE:1E/A

o TiS A 2023F11H13H
ST RS B B B 2023F11H13H
= Tie C 2023F11H13H
= D 2023411 A13H
o1 TiS A 20235 12H20H
RAEEIEH B 20235128200
= Tie C 20235 12H20H
= D 20234 12H20H
oy BRESH = =, ;
s il FRI R B G B O B 0] Rkl i i
BRCEER mS/m 90.3 73.0 31.2 24.7 0.1 —
BIEMAFEE mg/L 190 170 13 31 1 —
Q) RFEDEEZICRDIER AEHEE1R/EF
F1RIEH g 2 E g
HEHREREAAR
B2IRIEH € F A B
- D £ A H
F1IRIEH g 2 E g
BREERIEA
B2IRIEH € * A A
- D £ B H
e mESE e o ;
"RERAE B EREEH (A) | B 1K (B) | F2KiEH# (C) | F2 K& H# (D) EETR rﬁ*”“ﬁ@g‘%{ﬁ
TV IKER mg/L — — — — — BHINENZE
#KER mg/L — — — — — =0.0005
A3 L meg/L — — — — — =0.003
pie) mg/L — — — — — =0.01
7ufiynk meg/L — — — — — =0.05
it mg/L — — — — — =0.01
YTV mg/L — — — - — BRESNEBWNE
K )EIEE 712 mg/L — — — — — BREShAENE
MyOoOIFLY meg/L — — — — — =0.01
Th3900IFLY meg/L — — — — — =0.01
Y HOnareYy meg/L — — — — — =0.02
migkx*E mg/L — — — — — =0.002
1,2-")A014y mg/L — — — — — =0.004
1,1-¥"9001FLY mg/L — — — — — =<0.1
1,2-"9001FLY mg/L — — — — — <0.04
1,1,1-M)90aT4Y mg/L — — — — — =1
1,1,2-M)y0014Y mg/L — — — — — <0.006
1,3-"9007°'0A°Y mg/L — — — — — =0.002
774 mg/L — — — - — =0.006
Iy meg/L — — — — — =0.003
FANVALT mg/L — — — — — =0.02
AUty mg/L — — — — — =<0.01
LYy mg/L — — — — — =0.01
1,4- 134 mg/L — — — — — =0.05
H0AIFLY mg/L — — — — — =0.002
Q)FAAFX 5 BIESEE: 1[6/5F
F1RIEH g z E E
HEREREAR
FE2[RIEH c F A B
= D £ B H
F1RIEH g 2 g E
BREFZRIEA
o [T C £ A H
= D £ A H
. BRESAH —e A R
RERH N E S B B S ] il R s s
b VL pg-TEQ/L — — — — _ <1




